Ranking of Metro League Junior Legion Teams

July 8, 8:00pm

Ponk	Team	w	$\overline{}$	Comp	Composite Rank Categories		jories	Tie-Break Comments	
Rank	. realli	VV	-	Rank	Α	В	С	D	He-break Comments
1	Bennington Post 266	9	1	1.40	.900	1.000	1.800	1.000	3-way tie, no H2H, use comp rank
2	Pat Hagge Patriots (Millard South)	9	1	2.25	.900	0.800	2.200	3.400	3-way tie, no H2H, use comp rank
3	Junior Bluejays (Creighton Prep)	9	1	2.95	.900	0.800	3.000	3.800	3-way tie, no H2H, use comp rank
4	Battle Warriors (Westside)	8	2	4.30	.800	0.667	3.000	4.333	
5	Papio Post 32 (Papillion-LaVista)	7	3	5.55	.700	0.500	2.900	2.750	5-way tie, no H2H, use comp rank
6	Lawn Land Mustangs (Millard North)	7	3	7.10	.700	0.400	3.000	4.600	5-way tie, no H2H, use comp rank
7	The Birds (Creighton Prep)	7	3	9.30	.700	0.500	6.000	7.750	5-way tie, no H2H, use comp rank
8	Peitzmeier Demolition (Omaha Gross)	7	3	10.15	.700	0.250	5.200	7.750	5-way tie, no H2H, use comp rank
9	OrthoNebraska Antlers Post 211 (Elkhorn)	7	3	11.30	.700	0.000	3.300	6.000	5-way tie, no H2H, use comp rank
10	Portal Ridge Dental (Bellevue West)	6	4	8.45	.600	0.500	4.100	4.667	Split H2H, use comp rank
11	Sport Clips Wildcats (Millard West)	6	4	8.90	.600	0.500	4.700	6.000	Split H2H, use comp rank
12	Gretna Post 216	5	5	12.10	.500	0.333	5.900	7.333	No H2H, use comp rank
13	402 Training Center Titans (Papio South)	5	5	13.40	.500	0.167	5.500	8.667	No H2H, use comp rank
14	McKean's Floor to Ceiling Post 373 (Ralston)	4	6	13.20	.400	0.167	4.800	5.833	4-way tie, no H2H, use comp rank
15	Millard Sox Black	4	6	14.10	.400	0.286	6.500	6.429	4-way tie, no H2H, use comp rank
16	Gretna East Post 216	4	6	15.15	.400	0.143	5.900	6.714	4-way tie, no H2H, use comp rank
17	GFS Storm Post 211 (Elkhorn South)	4	6	16.55	.400	0.143	6.700	7.857	4-way tie, no H2H, use comp rank
18	Equitable Bank Post 211 (Elkhorn North)	3	7	18.55	.300	0.000	6.200	9.000	
19	Franchise Sidekick Skyhawks (Omaha Skutt)	2	8	18.00	.200	0.167	7.800	9.667	
20	Millard Sox Gold	1	9	20.35	.100	0.000	7.800	8.875	No H2H, use comp rank
21	COLBA Eagles (Omaha Central)	1	9	20.95	.100	0.000	7.900	9.833	No H2H, use comp rank
22	Omaha Electric Bulldogs (Omaha Burke)	0	10	19.95	.000	0.000	6.700	6.400	
23	Level Up Construction Chieftains (Bellevue East)	0	10	22.05	.000	0.000	11.500	10.500	

Comments: 115 games completed, 0 games remain

*Tie-Breakers

Apply the following in order, one at a time, until the tie is resolved

- 1. Highest total league winning percentage (See Column A above greater number is better)
- 2. Head to head results, if available (in order for this tie-breaker to be applied to multiple teams, all must have played each other)
- 3. Composite Rank
- 4. Highest winning percentage versus league opponents having a win percentage of .500 or better. (See Column B above greater number is better)
- 5. Fewest runs allowed per game in all league games (See Column C above lesser number is better)
- 6. Fewest runs allowed per game against league opponents having a win percentage of .500 or better. (See Column D above -lesser number is better)

Class A Area 1 - 4 Junior Legion Tournament Projected Seedings based on current Metro League standings

- Area 1
 1. Bennington Post 266
- 2. Peitzmeier Demolition
- 3. OrthoNebraska Antlers Post 211
- 4. Gretna East Post 216
- 5. GFS Storm Post 211

Area 2

- 1. Pat Hagge Patriots
- 2. The Birds
- 3. Portal Ridge Dental
- 4. Millard Sox Black
- 5. Equitable Bank Post 211

Area 3

- 1. Junior Bluejays
- 2. Lawn Land Mustangs
- 3. Sport Clips Wildcats
- 4. McKean's Floor to Ceiling Post 373
- 5. Franchise Sidekick Skyhawks
- 6. Level Up Construction Chieftains

Area 4

- Battle Warriors
- 2. Papio Post 32
- 3. Gretna Post 216
- 4. 402 Training Center Titans
- 5. Millard Sox Gold
- 6. COLBA Eagles

Hosts highlighted in yellow

Click on "Brkts" tab below to see projected tournament brackets. Area Tournaments to be played July 18-22, 2025

Area Tournament Host Sites (highlighted): Elkhorn North, Gretna East, Millard North, Papillion-LaVista Notes:



Metro League Junior Legion 2025 Master Schedule Showing Results and Status of Games

= need info

a contract of the contract of				11000 IIIIO			
	Tuesday, May 27						
VISITOR	Score	HOME	Score	Comments			
Gretna	0	Bellevue West	8	completed 5/27			
Millard West	4	Millard Sox Gold	2	completed 5/27			
Millard Sox Black	1	Westside	9	completed 5/27			
Creighton Prep	6	Elkhorn South	1	completed 5/27			
Millard South	3	Millard North	1	completed 5/27			
Ralston	1	Elkhorn	4	completed 5/27			
Gross	0	Bennington	9	completed 5/27			
Central	7	Burke	0	forfeit			
Bellevue East	5	Papillion LaVista	9	completed 5/27			
Skutt	0	Gretna East	2	completed 5/27			
Elkhorn North	5	Creighton Prep 2	8	completed 5/27			

Tuesday, June 3						
Creighton Prep 2	11	Papio South	6	completed 6/3		
Gross	10	Millard Sox Gold	2	completed 7/6		
Skutt	3	Millard North	11	completed 7/8		
Bellevue East	3	Bellevue West	15	completed 6/3		
Westside	4	Millard West	5	completed 6/14		
Elkhorn South	8	Ralston	3	completed 6/3		
Burke	0	Millard South	7	forfeit		
Bennington	9	Elkhorn	0	completed 6/16		
Central	5	Gretna	7	completed 6/30		
Elkhorn North	2	Creighton Prep	16	completed 6/3		
Papillion LaVista	1	Gretna East	5	completed 7/7		

Tuesday, June 10						
Millard Sox Black	2	Papio South	10	completed 6/10		
Papillion LaVista	10	Millard Sox Gold	2	completed 6/10		
Bellevue West	8	Millard North	6	completed 6/10		
Elkhorn South	12	Central	9	completed 6/10		
Burke	0	Gross	7	forfeit		
Bennington	8	Ralston	0	completed 6/10		
Bellevue East	0	Elkhorn	15	completed 6/10		
Creighton Prep 2	9	Gretna	13	completed 6/10		
Elkhorn North	7	Skutt	5	completed 6/10		
Gretna East	3	Millard South	11	completed 6/10		
Westside	3	Creighton Prep	11	completed 6/10		

Tuesday, June 17						
Papio South	9	Bellevue East	1	completed 6/17		
Westside	9	Gross	1	completed 6/17		
Millard Sox Black	7	Millard West	8	completed 6/17		
Bellevue West	5	Millard Sox Gold	2	completed 6/17		
Ralston	0	Millard North	7	completed 6/17		
Bennington	4	Elkhorn South	5	completed 6/17		
Elkhorn	7	Burke	0	forfeit		
Millard South	8	Central	1	completed 6/17		
Gretna East	0	Gretna	5	completed 6/17		
Papillion LaVista	5	Elkhorn North	3	completed 6/17		
Creighton Prep 2	3	Creighton Prep	11	completed 5/23		

	Tuesday, June 24						
Westside	17	Papio South	9	completed 6/24			
Millard West	6	Bellevue East	1	completed 7/1			
Elkhorn North	3	Bellevue West	5	completed 7/3			
Millard North	3	Millard Sox Black	2	completed 6/24			
Elkhorn South	1	Elkhorn	9	completed 6/24			
Bennington	12	Millard South	2	completed 7/2			
Burke	_	Skutt	7	forfeit			
Central	0	Creighton Prep 2	6	completed 6/24			
Gross	3	Ralston	2	completed 7/7			
Gretna	0	Papillion LaVista	3	completed 6/24			
Creighton Prep	3	Gretna East	1	completed 7/6			

Tuesday, July 1						
Papio South	8	Bellevue West	1	completed 7/1		
Millard North	11	Millard West	7	completed 7/1		
Bellevue East		Gross	10	completed 7/1		
Millard Sox Black	3	Millard Sox Gold	1	completed 7/1		
Creighton Prep	11	Elkhorn South	5	completed 7/1		
Millard South	9	Gretna	1	completed 7/1		
Elkhorn	8	Gretna East	7	completed 7/1		
Papillion LaVista	2	Bennington	5	completed 7/1		
Burke	0	Creighton Prep 2	7	forfeit		
Elkhorn North	4	Central	2	completed 7/1		
Ralston	11	Skutt	2	completed 7/1		

= to be made up

	Wednesday, May 28						
VISITOR	Score	HOME	Score	Comments			
Papio South	8	Elkhorn South	0	completed 5/28			
Millard Sox Gold	0	Millard North	7	completed 7/7			
Bellevue West	3	Millard Sox Black	5	completed 5/28			
Millard West	0	Ralston	1	completed 5/28			
Westside	13	Bellevue East	1	completed 5/28			
Millard South	8	Gross	2	completed 5/28			
Elkhorn	8	Central	6	completed 5/28			
Bennington	7	Burke	0	forfeit			
Creighton Prep	17	Skutt	2	completed 6/22			
Papillion LaVista	1	Creighton Prep 2	4	completed 5/29			
Gretna East	1	Elkhorn North	0	completed 5/28			

	Wednesday, June 4						
Millard Sox Gold	0	Papio South	11	completed 6/4			
Creighton Prep 2	1	Millard Sox Black	8	completed 6/4			
Millard North	0	Westside	2	completed 6/4			
Bellevue West	2	Millard West	3	completed 6/4			
Elkhorn South	9	Gross	11	completed 6/4			
Central	3	Ralston	4	completed 6/4			
Gretna East	2	Bennington	7	completed 6/4			
Elkhorn	1	Millard South	3	completed 6/4			
Gretna	6	Skutt	8	completed 6/4			
Burke	0	Elkhorn North	7	forfeit			
Creighton Prep	2	Papillion LaVista	3	completed 6/4			

Wednesday, June 11						
Bellevue East	5	Millard Sox Black	14	completed 6/11		
Millard Sox Gold	0	Westside	15	completed 6/11		
Millard West	8	Bellevue West	9	completed 6/11		
Elkhorn South	7	Burke	0	forfeit		
Central	5	Bennington	20	completed 6/11		
Gross	6	Elkhorn	5	completed 7/2		
Ralston	1	Millard South	13	completed 6/11		
Gretna	12	Elkhorn North	2	completed 7/8		
Creighton Prep 2	12	Gretna East	9	completed 6/11		
Skutt	0	Papillion LaVista	6	completed 6/11		
Papio South	7	Creighton Prep	8	completed 6/11		

Wednesday, June 25						
Papio South	2	Millard West	10	completed 6/25		
Bellevue West	0	Westside	3	completed 6/25		
Millard North	7	Bellevue East	2	completed 6/25		
Gretna East	14	Millard Sox Black	12	completed 6/25		
Millard Sox Gold	2	Bennington	9	completed 6/25		
Millard South	6	Elkhorn South	0	completed 6/25		
Elkhorn	8	Elkhorn North	0	completed 6/25		
Ralston	7	Burke	0	forfeit		
Gross	10	Central	7	completed 6/25		
Gretna	3	Creighton Prep	8	completed 6/25		
Skutt	7	Creighton Prep 2	8	completed 6/25		

Wednesday, July 2						
Millard North	5	Papio South	3	completed 7/2		
Millard West	7	Gretna	8	completed 7/2		
Skutt	2	Westside	10	completed 7/2		
Millard Sox Gold	17	Bellevue East	4	completed 7/2		
Millard Sox Black	3	Papillion LaVista	11	completed 7/2		

Ranking of Junior Legion Teams in Four Qualitative Categories July 8, 8:00pm

		Category A	- Winnin	g Per	centage	vs.	All Leag	ue Opponents			
		SORTED BY RANK						SORTED BY TEAM - ALPHA			
	Rank P	Team	W	L	Win %		Rank Pts	Team	W	L	Win %
1	2.00	Bennington Post 266	9	1	.900		12.50	402 Training Center Titans (Papio South)	5	5	.500
2	2.00	Junior Bluejays (Creighton Prep)	9	1	.900		4.00	Battle Warriors (Westside)	8	2	.800
3	2.00	Pat Hagge Patriots (Millard South)	9	1	.900		2.00	Bennington Post 266	9	1	.900
4	4.00	Battle Warriors (Westside)	8	2	.800		20.50	COLBA Eagles (Central)	- 1	9	.100
5	7.00	Lawn Land Mustangs (Millard North)	7	3	.700		18.00	Equitable Bank Post 211 (Elkhorn North)	3	7	.300
6	7.00	OrthoNebraska Antlers Post 211 (Elkhorn)	7	3	.700		19.00	Franchise Sidekick Skyhawks (Omaha Skutt)	2	8	.200
7	7.00	Papio Post 32 (Papillion-LaVista)	7	3	.700		15.50	GFS Storm Post 211 (Elkhorn South)	4	6	.400
8	7.00	Peitzmeier Demolition (Omaha Gross)	7	3	.700		15.50	Gretna East Post 216	4	6	.400
9	7.00	The Birds (Creighton Prep)	7	3	.700		12.50	Gretna Post 216	5	5	.500
0	10.50	Portal Ridge Dental (Bellevue West)	6	4	.600		2.00	Junior Bluejays (Creighton Prep)	9	1	.900
	10.50	Sport Clips Wildcats (Millard West)	6	4	.600		7.00	Lawn Land Mustangs (Millard North)	7	3	.700
2	12.50	402 Training Center Titans (Papio South)	5	5	.500		22.50	Level Up Construction Chieftains (Bellevue East)	0	10	.000
	12.50	Gretna Post 216	5	5	.500		15.50	McKean's Floor to Ceiling Post 373 (Ralston)	4	6	.400
4	15.50	GFS Storm Post 211 (Elkhorn South)	4	6	.400		15.50	Millard Sox Black	4	6	.400
5	15.50	Gretna East Post 216	4	6	.400		20.50	Millard Sox Gold	- 1	9	.100
6	15.50	McKean's Floor to Ceiling Post 373 (Ralston)	4	6	.400		22.50	Omaha Electric Bulldogs (Omaha Burke)	0	10	.000
	15.50	Millard Sox Black	4	6	.400		7.00	OrthoNebraska Antlers Post 211 (Elkhorn)	7	3	.700
	18.00	Equitable Bank Post 211 (Elkhorn North)	3	7	.300		7.00	Papio Post 32 (Papillion-LaVista)	7	3	.700
9	19.00	Franchise Sidekick Skyhawks (Omaha Skutt)	2	8	.200		2.00	Pat Hagge Patriots (Millard South)	9	1	.900
	20.50	COLBA Eagles (Central)	1	9	.100		7.00	Peitzmeier Demolition (Omaha Gross)	7	3	.700
1	20.50	Millard Sox Gold	1	9	.100		10.50	Portal Ridge Dental (Bellevue West)	6	4	.600
	22.50	Level Up Construction Chieftains (Bellevue East)		10	.000		10.50	Sport Clips Wildcats (Millard West)	6	4	.600
3	22.50	Omaha Electric Bulldogs (Omaha Burke)	0	10	.000		7.00	The Birds (Creighton Prep)	7	3	.700

Г		Category B - Winn	ing Percen	tage	vs. Leaç	ue	Opponer	nts with Win Percentage ≥ .500			
Г		SORTED BY RANK						SORTED BY TEAM - ALPHA			
	Rank P	t Team	w	L	Win %		Rank Pts	Team	W	L	Win %
1	1.00	Bennington Post 266	4	0	1.000		14.00	402 Training Center Titans (Papio South)	1	5	.167
2	2.50	Junior Bluejays (Creighton Prep)	4	1	.800		4.00	Battle Warriors (Westside)	4	2	.667
3	2.50	Pat Hagge Patriots (Millard South)	4	1	.800		1.00	Bennington Post 266	4	0	1.000
4	4.00	Battle Warriors (Westside)	4	2	.667		20.50	COLBA Eagles (Central)	0	6	.000
5	6.50	Papio Post 32 (Papillion-LaVista)	2	2	.500		20.50	Equitable Bank Post 211 (Elkhorn North)	0	6	.000
6	6.50	Portal Ridge Dental (Bellevue West)	3	3	.500		14.00	Franchise Sidekick Skyhawks (Omaha Skutt)	1	5	.167
7	6.50	Sport Clips Wildcats (Millard West)	3	3	.500		16.50	GFS Storm Post 211 (Elkhorn South)	1	6	.143
8	6.50	The Birds (Creighton Prep)	2	2	.500		16.50	Gretna East Post 216	1	6	.143
9	9.00	Lawn Land Mustangs (Millard North)	2	3	.400		10.00	Gretna Post 216	2	4	.333
0	10.00	Gretna Post 216	2	4	.333		2.50	Junior Bluejays (Creighton Prep)	4	1	.800
1	11.00	Millard Sox Black	2	5	.286		9.00	Lawn Land Mustangs (Millard North)	2	3	.400
2	12.00	Peitzmeier Demolition (Omaha Gross)	1	3	.250		20.50	Level Up Construction Chieftains (Bellevue East)	0	8	.000
3	14.00	402 Training Center Titans (Papio South)	1	5	.167		14.00	McKean's Floor to Ceiling Post 373 (Ralston)	1	5	.167
4	14.00	Franchise Sidekick Skyhawks (Omaha Skutt)	1	5	.167		11.00	Millard Sox Black	2	5	.286
5	14.00	McKean's Floor to Ceiling Post 373 (Ralston)	1	5	.167		20.50	Millard Sox Gold	0	8	.000
6	16.50	GFS Storm Post 211 (Elkhorn South)	1	6	.143		20.50	Omaha Electric Bulldogs (Omaha Burke)	0	5	.000
7	16.50	Gretna East Post 216	1	6	.143		20.50	OrthoNebraska Antlers Post 211 (Elkhorn)	0	3	.000
8	20.50	COLBA Eagles (Central)	0	6	.000		6.50	Papio Post 32 (Papillion-LaVista)	2	2	.500
9	20.50	Equitable Bank Post 211 (Elkhorn North)	0	6	.000		2.50	Pat Hagge Patriots (Millard South)	4	1	.800
0	20.50	Level Up Construction Chieftains (Bellevue East)	0	8	.000		12.00	Peitzmeier Demolition (Omaha Gross)	1	3	.250
1	20.50	Millard Sox Gold	0	8	.000		6.50	Portal Ridge Dental (Bellevue West)	3	3	.500
2	20.50	Omaha Electric Bulldogs (Omaha Burke)	0	5	.000		6.50	Sport Clips Wildcats (Millard West)	3	3	.500
3	20.50	OrthoNebraska Antlers Post 211 (Elkhorn)	0	3	.000		6.50	The Birds (Creighton Prep)	2	2	.500

		Category C	Avg. Runs Allowed pe	d per Game vs. All League Opponents									
Г		SORTED BY RANK			SORTED BY TEAM - ALPHA								
	Rank P	t Team	Runs Allowed / Gm	Rank Pts	Team Team	Runs Allowed / Gm							
1	1.00	Bennington Post 266	1.800	12.00	402 Training Center Titans (Papio South)	5.500							
2	2.00	Pat Hagge Patriots (Millard South)	2.200	5.00	Battle Warriors (Westside)	3.000							
3	3.00	Papio Post 32 (Papillion-LaVista)	2.900	1.00	Bennington Post 266	1.800							
4	5.00	Battle Warriors (Westside)	3.000	22.00	COLBA Eagles (Central)	7.900							
5	5.00	Junior Bluejays (Creighton Prep)	3.000	16.00	Equitable Bank Post 211 (Elkhorn North)	6.200							
3	5.00	Lawn Land Mustangs (Millard North)	3.000	20.50	Franchise Sidekick Skyhawks (Omaha Skutt)	7.800							
7	7.00	OrthoNebraska Antlers Post 211 (Elkhorn)	3.300	18.50	GFS Storm Post 211 (Elkhorn South)	6.700							
3	8.00	Portal Ridge Dental (Bellevue West)	4.100	13.50	Gretna East Post 216	5.900							
9	9.00	Sport Clips Wildcats (Millard West)	4.700	13.50	Gretna Post 216	5.900							
0	10.00	McKean's Floor to Ceiling Post 373 (Ralston)	4.800	5.00	Junior Bluejays (Creighton Prep)	3.000							
1	11.00	Peitzmeier Demolition (Omaha Gross)	5.200	5.00	Lawn Land Mustangs (Millard North)	3.000							
2	12.00	402 Training Center Titans (Papio South)	5.500	23.00	Level Up Construction Chieftains (Bellevue East)	11.500							
3	13.50	Gretna East Post 216	5.900	10.00	McKean's Floor to Ceiling Post 373 (Ralston)	4.800							
4	13.50	Gretna Post 216	5.900	17.00	Millard Sox Black	6.500							
5	15.00	The Birds (Creighton Prep)	6.000	20.50	Millard Sox Gold	7.800							
ŝ	16.00	Equitable Bank Post 211 (Elkhorn North)	6.200	18.50	Omaha Electric Bulldogs (Omaha Burke)	6.700							
	17.00	Millard Sox Black	6.500	7.00	OrthoNebraska Antlers Post 211 (Elkhorn)	3.300							
3	18.50	GFS Storm Post 211 (Elkhorn South)	6.700	3.00	Papio Post 32 (Papillion-LaVista)	2.900							
9	18.50	Omaha Electric Bulldogs (Omaha Burke)	6.700	2.00	Pat Hagge Patriots (Millard South)	2.200							
0	20.50	Franchise Sidekick Skyhawks (Omaha Skutt)	7.800	11.00	Peitzmeier Demolition (Omaha Gross)	5.200							
1	20.50	Millard Sox Gold	7.800	8.00	Portal Ridge Dental (Bellevue West)	4.100							
2	22.00	COLBA Eagles (Central)	7.900	9.00	Sport Clips Wildcats (Millard West)	4.700							
3	23.00	Level Up Construction Chieftains (Bellevue East)	11.500	15.00	The Birds (Creighton Prep)	6.000							

		Category D - Avg. Rur	ns Allowed per Gm vs. L	ag	ue Oppo	nents with Win Percentage ≥ .500	
Г		SORTED BY RANK				SORTED BY TEAM - ALPHA	
	Rank Pt	t Team	Runs Allowed / Gm		Rank Pts	Team	Runs Allowed / Gm
1	1.00	Bennington Post 266	1.000		18.00	402 Training Center Titans (Papio South)	8.667
2	2.00	Papio Post 32 (Papillion-LaVista)	2.750		5.00	Battle Warriors (Westside)	4.333
3	3.00	Pat Hagge Patriots (Millard South)	3.400		1.00	Bennington Post 266	1.000
4	4.00	Junior Bluejays (Creighton Prep)	3.800		22.00	COLBA Eagles (Central)	9.833
5	5.00	Battle Warriors (Westside)	4.333		20.00	Equitable Bank Post 211 (Elkhorn North)	9.000
6	6.00	Lawn Land Mustangs (Millard North)	4.600		21.00	Franchise Sidekick Skyhawks (Omaha Skutt)	9.667
7	7.00	Portal Ridge Dental (Bellevue West)	4.667		17.00	GFS Storm Post 211 (Elkhorn South)	7.857
8	8.00	McKean's Floor to Ceiling Post 373 (Ralston)	5.833		13.00	Gretna East Post 216	6.714
9	9.50	OrthoNebraska Antlers Post 211 (Elkhorn)	6.000		14.00	Gretna Post 216	7.333
0	9.50	Sport Clips Wildcats (Millard West)	6.000		4.00	Junior Bluejays (Creighton Prep)	3.800
1	11.00	Omaha Electric Bulldogs (Omaha Burke)	6.400		6.00	Lawn Land Mustangs (Millard North)	4.600
2	12.00	Millard Sox Black	6.429		23.00	Level Up Construction Chieftains (Bellevue East)	10.500
3	13.00	Gretna East Post 216	6.714		8.00	McKean's Floor to Ceiling Post 373 (Ralston)	5.833
4	14.00	Gretna Post 216	7.333		12.00	Millard Sox Black	6.429
5	15.50	Peitzmeier Demolition (Omaha Gross)	7.750		19.00	Millard Sox Gold	8.875
6	15.50	The Birds (Creighton Prep)	7.750		11.00	Omaha Electric Bulldogs (Omaha Burke)	6.400
7	17.00	GFS Storm Post 211 (Elkhorn South)	7.857		9.50	OrthoNebraska Antlers Post 211 (Elkhorn)	6.000
8	18.00	402 Training Center Titans (Papio South)	8.667		2.00	Papio Post 32 (Papillion-LaVista)	2.750
9	19.00	Millard Sox Gold	8.875		3.00	Pat Hagge Patriots (Millard South)	3.400
0	20.00	Equitable Bank Post 211 (Elkhorn North)	9.000		15.50	Peitzmeier Demolition (Omaha Gross)	7.750
1	21.00	Franchise Sidekick Skyhawks (Omaha Skutt)	9.667		7.00	Portal Ridge Dental (Bellevue West)	4.667
2	22.00	COLBA Eagles (Central)	9.833		9.50	Sport Clips Wildcats (Millard West)	6.000
3	23.00	Level Up Construction Chieftains (Bellevue East)	10.500		15.50	The Birds (Creighton Prep)	7.750

Cross-check

	W	L	RS	RA	Opp. W	Opp. L (Opp. W%	Games Left
Bellevue East	0	10	23	115	58	42	0.580	0
Bellevue West	6	4	56	41	45	55	0.450	0
Bennington	9	1	90	18	44	56	0.440	0
Burke	0	10	0	67	53	47	0.530	0
Central	1	9	45	79	55	45	0.550	0
Creighton Prep	9	1	93	30	49	51	0.490	0
Elkhorn	7	3	62	33	41	59	0.410	0
Elkhorn North	3	7	33	62	48	52	0.480	0
Elkhorn South	4	6	48	67	60	40	0.600	0
Gretna	5	5	55	59	54	46	0.540	0
Gretna East	4	6	44	59	62	38	0.620	0
Gross	7	3	60	52	43	57	0.430	0
Millard North	7	3	58	30	45	55	0.450	0
Millard South	9	1	70	22	48	52	0.480	0
Millard Sox Black	4	6	57	65	51	49	0.510	0
Millard Sox Gold	1	9	28	78	59	41	0.590	0
Millard West	6	4	58	47	46	54	0.460	0
Creighton Prep 2	7	3	69	60	40	60	0.400	0
Papillion LaVista	7	3	51	29	44	56	0.440	0
Papio South	5	5	73	55	52	48	0.520	0
Ralston	4	6	30	48	52	48	0.520	0
Skutt	2	8	36	78	54	46	0.540	0
Westside	8	2	85	30	47	53	0.470	0
23	115	115	1224	1224	1150	1150	0.500	0

Master Schedule List of Junior Legion Games (sorted by date scheduled)

#	Cabadalad	Discord Minister	S	Ueme	S	Chatus
1	05/27/25	Played Visitor 05/27/25 Gretna	Score 0	Home Bellevue West	Score 8	Status completed 5/27
2	05/27/25 05/27/25	05/27/25 Millard West 05/27/25 Millard Sox Black	4	Millard Sox Gold Westside	9	completed 5/27 completed 5/27
4	05/27/25	05/27/25 Creighton Prep	6	Elkhorn South	1	completed 5/27
<u>5</u>	05/27/25 05/27/25	05/27/25 Millard South 05/27/25 Ralston	<u>3</u>	Millard North Elkhorn	<u>1</u> 4	completed 5/27 completed 5/27
7	05/27/25 05/27/25	05/27/25 Gross 05/27/25 Central	0 7	Bennington Burke	9	completed 5/27 forfeit
9	05/27/25	05/27/25 Bellevue East	5	Papillion LaVista	9	completed 5/27
10	05/27/25 05/27/25	05/27/25 Skutt 05/27/25 Elkhorn North	<u>0</u> 5	Gretna East Creighton Prep 2	2 8	completed 5/27 completed 5/27
12	05/28/25	05/28/25 Papio South 07/07/25 Millard Sox Gold	<u>8</u> 0	Elkhorn South Millard North	7	completed 5/28 completed 7/7
14	05/28/25	05/28/25 Bellevue West	3	Millard Sox Black	5	completed 5/28
15 16	05/28/25 05/28/25	05/28/25 Millard West 05/28/25 Westside	13	Ralston Bellevue East	1 1	completed 5/28 completed 5/28
17 18	05/28/25 05/28/25	05/28/25 Millard South 05/28/25 Elkhorn	8	Gross Central	2 6	completed 5/28 completed 5/28
19	05/28/25 05/28/25	05/28/25 Bennington	7	Burke	0	forfeit
20	05/28/25	06/22/25 Creighton Prep 05/28/25 Papillion LaVista	17 1	Skutt Creighton Prep 2	2 4	completed 6/22 completed 5/29
22	05/28/25 06/03/25	05/28/25 Gretna East 06/03/25 Creighton Prep 2	1 11	Elkhorn North Papio South	6	completed 5/28 completed 6/3
24 25	06/03/25 06/03/25	07/06/25 Gross 07/08/25 Skutt	10	Millard Sox Gold	2	completed 7/6
26	06/03/25	06/03/25 Bellevue East	3	Millard North Bellevue West	15	completed 7/8 completed 6/3
27	06/03/25 06/03/25	06/14/25 Westside 06/03/25 Elkhorn South	<u>4</u> 8	Millard West Ralston	<u>5</u> 3	completed 6/14 completed 6/3
29 30	06/03/25 06/03/25	06/03/25 Burke 06/16/25 Bennington	0	Millard South Elkhorn	7	forfeit completed 6/16
31	06/03/25	06/30/25 Central	5	Gretna	7	completed 6/30
32	06/03/25 06/03/25	06/03/25 Elkhorn North 07/07/25 Papillion LaVista	2 1	Creighton Prep Gretna East	16 5	completed 6/3 completed 7/7
34 35	06/04/25 06/04/25	06/04/25 Millard Sox Gold	0	Papio South Millard Sox Black	11	completed 6/4 completed 6/4
36	06/04/25	06/04/25 Creighton Prep 2 06/04/25 Millard North	0	Westside	2	completed 6/4
37 38	06/04/25 06/04/25	06/04/25 Bellevue West 06/04/25 Elkhorn South	9	Millard West Gross	3 11	completed 6/4 completed 6/4
39 40	06/04/25 06/04/25	06/04/25 Central 06/04/25 Gretna East	3	Ralston Bennington	4 7	completed 6/4 completed 6/4
41	06/04/25	06/04/25 Flkhorn	1	Millard South	3	completed 6/4
42	06/04/25 06/04/25	06/04/25 Gretna 06/04/25 Burke	<u>6</u> 0	Skutt Elkhorn North	7	completed 6/4 forfeit
44 45	06/04/25 06/10/25	06/04/25 Creighton Prep 06/10/25 Millard Sox Black	2	Papillion LaVista Papio South	3 10	completed 6/4 completed 6/10
46	06/10/25	06/10/25 Papillion LaVista	10	Millard Sox Gold	2	completed 6/10
47	06/10/25 06/10/25	06/10/25 Bellevue West 06/10/25 Elkhorn South	8 12	Millard North Central	<u>6</u> 9	completed 6/10 completed 6/10
49 50	06/10/25 06/10/25	06/10/25 Burke 06/10/25 Bennington	0	Gross Ralston	7	forfeit completed 6/10
51	06/10/25	06/10/25 Bellevue East	0	Elkhorn	15	completed 6/10
52 53	06/10/25 06/10/25	06/10/25 Creighton Prep 2 06/10/25 Elkhorn North	9 7	Gretna Skutt	13 5	completed 6/10 completed 6/10
54 55	06/10/25 06/10/25	06/10/25 Gretna East 06/10/25 Westside	3	Millard South Creighton Prep	11 11	completed 6/10 completed 6/10
56	06/11/25	06/11/25 Bellevue East	5	Millard Sox Black	14	completed 6/11
57 58	06/11/25 06/11/25	06/11/25 Millard Sox Gold 06/11/25 Millard West	0 8	Westside Bellevue West	15 9	completed 6/11 completed 6/11
59 60	06/11/25 06/11/25	06/11/25 Elkhorn South 06/11/25 Central	7 5	Burke Bennington	0 20	forfeit completed 6/11
61	06/11/25	07/02/25 Gross	6	Elkhorn	5	completed 7/2
62 63	06/11/25 06/11/25	06/11/25 Ralston 07/08/25 Gretna	1 12	Millard South Elkhorn North	13 2	completed 6/11 completed 7/8
64 65	06/11/25 06/11/25	06/11/25 Creighton Prep 2 06/11/25 Skutt	12	Gretna East Papillion LaVista	9	completed 6/11 completed 6/11
66	06/11/25	06/11/25 Papio South	7	Creighton Prep	8	completed 6/11
67 68	06/17/25 06/17/25	06/17/25 Papio South 06/17/25 Westside	9	Bellevue East Gross	1	completed 6/17 completed 6/17
69 70	06/17/25 06/17/25	06/17/25 Millard Sox Black 06/17/25 Bellevue West		Millard West Millard Sox Gold	8 2	completed 6/17 completed 6/17
71	06/17/25	06/17/25 Ralston	0	Millard North	7	completed 6/17
73	06/17/25 06/17/25	06/17/25 Bennington 06/17/25 Elkhorn	4	Elkhorn South Burke	0	completed 6/17 forfeit
74 75	06/17/25 06/17/25	06/17/25 Millard South 06/17/25 Gretna East	<u>8</u> 0	Central Gretna	<u>1</u> 5	completed 6/17 completed 6/17
76 77	06/17/25 06/17/25	06/17/25 Papillion LaVista	5	Elkhorn North Creighton Prep	3 11	completed 6/17
78	06/24/25	05/23/25 Creighton Prep 2 06/24/25 Westside	17	Papio South	9	completed 5/23 completed 6/24
79 80	06/24/25 06/24/25	07/01/25 Millard West 07/03/25 Elkhorn North	<u>6</u> 3	Bellevue East Bellevue West	<u>1</u> 5	completed 7/1 completed 7/3
81 82	06/24/25 06/24/25	06/24/25 Millard North 06/24/25 Elkhorn South	3	Millard Sox Black Elkhorn	2	completed 6/24 completed 6/24
83	06/24/25	07/02/25 Bennington	12	Millard South	2	completed 7/2
84 85	06/24/25 06/24/25	06/24/25 Burke 06/24/25 Central	0	Skutt Creighton Prep 2	7 6	forfeit completed 6/24
86 87	06/24/25 06/24/25	07/07/25 Gross 06/24/25 Gretna	3	Ralston Papillion LaVista	2	completed 7/7 completed 6/24
88	06/24/25	07/06/25 Creighton Prep	3	Gretna East	1	completed 7/6
89 90	06/25/25 06/25/25	06/25/25 Papio South 06/25/25 Bellevue West	2 0	Millard West Westside	10 3	completed 6/25 completed 6/25
91 92	06/25/25 06/25/25	06/25/25 Millard North 06/25/25 Gretna East	7 14	Bellevue East Millard Sox Black	2 12	completed 6/25 completed 6/25
93 94	06/25/25 06/25/25	06/25/25 Millard Sox Gold	2	Bennington	9	completed 6/25
95	06/25/25	06/25/25 Millard South 06/25/25 Elkhorn	<u>6</u> 8	Elkhorn South Elkhorn North	0	completed 6/25 completed 6/25
96 97	06/25/25 06/25/25	06/25/25 Ralston 06/25/25 Gross	7 10	Burke Central	0 7	forfeit completed 6/25
98	06/25/25	06/25/25 Gretna	3	Creighton Prep	8	completed 6/25
100	06/25/25 07/01/25	06/25/25 Skutt 07/01/25 Papio South	7 8	Creighton Prep 2 Bellevue West	<u>8</u> 1	completed 6/25 completed 7/1
101 102	07/01/25 07/01/25	07/01/25 Millard North 07/01/25 Bellevue East	11	Millard West Gross	7 10	completed 7/1 completed 7/1
103	07/01/25	07/01/25 Millard Sox Black	3	Millard Sox Gold	1	completed 7/1
104 105	07/01/25 07/01/25	07/01/25 Creighton Prep 07/01/25 Millard South	11 9	Elkhorn South Gretna	5 1	completed 7/1 completed 7/1
106 107	07/01/25 07/01/25	07/01/25 Elkhorn 07/01/25 Papillion LaVista	8 2	Gretna East Bennington	7 5	completed 7/1 completed 7/1
108	07/01/25 07/01/25	07/01/25 Burke	0	Creighton Prep 2	7 2	forfeit completed 7/1
110	07/01/25	07/01/25 Elkhorn North 06/26/25 Ralston	11	Central Skutt	2	completed 7/1
111	07/02/25 07/02/25	07/02/25 Millard North 07/02/25 Millard West	5 7	Papio South Gretna	3 8	completed 7/2 completed 7/2
113	07/02/25 07/02/25	07/02/25 Skutt	2	Westside Bellevue East	10	completed 7/2
114	07/02/25	07/02/25 Millard Sox Gold 07/02/25 Millard Sox Black	17 3	Papillion LaVista	4 11	completed 7/2 completed 7/2

Level Up Construction Chieftains (Bellevue East)

Team Performance

Pool: 10 Games Played: Wins: 0 Losses: 10 Opponent Win % .580 Runs Scored: 23 Runs Allowed: 115 Run Differential: -92 Runs Scored / Gm: 2.300

Runs Allowed / Gm: 11.500 Run Differential / Gm: -9.200

Calculation of Team's C	omposite R	ank		
Ranking Categories	Value	Rank Pts	x Weight	Result
Category A: Win % vs all League Opponents	.000	22.50	0.40	9.000
Category B: Win % vs opponents w/ Win % >=.500	.000	20.50	0.30	6.150
Category C: Av Runs allowed vs all League Opponents	11.500	23.00	0.20	4.600
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	10.500	23.00	0.10	2.300
		Compos	ite Rank:	22.050

						L	eague	Schedu	ıle Res	ults					
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
9	5/27/2025	5/27/2025	Papillion LaVista	5	9	-	L	С	7	3	.700	-	L	9	completed 5/27
16	5/28/2025	5/28/2025	Westside	1	13	-	L	Α	8	2	.800	-	L	13	completed 5/28
26	6/3/2025	6/3/2025	Bellevue West	3	15	-	L	Α	6	4	.600	-	L	15	completed 6/3
51	6/10/2025	6/10/2025	Elkhorn	0	15	-	L	В	7	3	.700	-	L	15	completed 6/10
56	6/11/2025	6/11/2025	Millard Sox Black	5	14	-	L	Α	4	6	.400	-	-	-	completed 6/11
67	6/17/2025	6/17/2025	Papio South	1	9	-	L	Α	5	5	.500	-	L	9	completed 6/17
79	6/24/2025	7/1/2025	Millard West	1	6	-	L	Α	6	4	.600	-	L	6	completed 7/1
91	6/25/2025	6/25/2025	Millard North	2	7	-	L	Α	7	3	.700	-	L	7	completed 6/25
102	7/1/2025	7/1/2025	Gross	1	10	-	L	В	7	3	.700	-	L	10	completed 7/1
114	7/2/2025	7/2/2025	Millard Sox Gold	4	17	-	L	Α	1	9	.100	-	-	-	completed 7/2
			Total	23	115	0	10		58	42	.580	0	8	84	

Portal Ridge Dental (Bellevue West)

Team Performance

Pool: A
Games Played: 10
Wins: 6
Losses: 4

Opponent Win % .450
Runs Scored: 56
Runs Allowed: 41
Run Differential: 15

5.60

4.10 1.50

Runs Scored / Gm:

Runs Allowed / Gm:

Calculation of Team's C	omposite R	lank							
Ranking Categories	Ranking Categories Value								
Category A: Win % vs all League Opponents	.600	10.50	0.40	4.200					
Category B: Win % vs opponents w/ Win % >=.500	.500	6.50	0.30	1.950					
Category C: Av Runs allowed vs all League Opponents	4.100	8.00	0.20	1.600					
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	4.667	7.00	0.10	0.700					
		Composite	Rank:	8.450					

						L	.eague	Schedu	ıle Res	ults					
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
1	5/27/2025	5/27/2025	Gretna	8	0	W	-	С	5	5	.500	W	-	0	completed 5/27
14	5/28/2025	5/28/2025	Millard Sox Black	3	5	-	L	Α	4	6	.400	-	-	-	completed 5/28
26	6/3/2025	6/3/2025	Bellevue East	15	3	W	-	Α	0	10	.000	-	-	-	completed 6/3
37	01 11-0-0		Millard West	2	3	-	L	Α	6	4	.600	-	L	3	completed 6/4
47	6/10/2025	6/10/2025	Millard North	8	6	W	-	Α	7	3	.700	W	-	6	completed 6/10
58	6/11/2025	6/11/2025	Millard West	9	8	W	-	Α	6	4	.600	W	-	8	completed 6/11
70	6/17/2025	6/17/2025	Millard Sox Gold	5	2	W	-	Α	1	9	.100	-	-	-	completed 6/17
80	6/24/2025	7/3/2025	Elkhorn North	5	3	W	-	С	3	7	.300	-	-	-	completed 7/3
90	6/25/2025	0,-0,-0-0		0	3	-	Ĺ	Α	8	2	.800	-	L	3	completed 6/25
100	7/1/2025	7/1/2025	Papio South	1	8	-	L	Α	5	5	.500	-	L	8	completed 7/1
			Total	56	41	6	4		45	55	.450	3	3	28	

Bennington Post 266

Team Performance

Pool: B
Games Played: 10
Wins: 9
Losses: 1

Opponent Win % .440

Runs Scored: 90
Runs Allowed: 18
Run Differential: 72
Runs Scored / Gm: 9.00
Runs Allowed / Gm: 1.80
Run Differential / Gm: 7.20

Calculation of Team's C	omposite R	lank		
Ranking Categories	Value	Rank Pts	x Weight	Result
Category A: Win % vs all League Opponents	.900	2.00	0.40	0.800
Category B: Win % vs opponents w/ Win % >=.500	1.000	1.00	0.30	0.300
Category C: Av Runs allowed vs all League Opponents	1.800	1.00	0.20	0.200
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	1.000	1.00	0.10	0.100
		Compos	site Rank:	1.400

						L	eague	Schedu	le Resu	ilts					
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
	5/27/2025			9	0	W	-	В	7	3	.700	W	-	0	completed 5/27
19	5/28/2025	5/28/2025	Burke	7	0	W	-	В	0	10	.000	-	-	-	forfeit
30	6/3/2025	6/16/2025	Elkhorn	9	0	W	-	В	7	3	.700	W	-	0	completed 6/16
40	6/4/2025		Gretna East	7	2	W	-	С	4	6	.400	-	-	-	completed 6/4
50	6/10/2025	6/10/2025	Ralston	8	0	W	-	В	4	6	.400	-	-	-	completed 6/10
60	6/11/2025	6/11/2025	Central	20	5	W	-	В	1	9	.100	-	-	-	completed 6/11
72	6/17/2025	6/17/2025	Elkhorn South	4	5	-	L	В	4	6	.400	-	-	-	completed 6/17
83	6/24/2025	7/2/2025	Millard South	12	2	W	-	В	9	1	.900	W	-	2	completed 7/2
93	6/25/2025	6/25/2025	Millard Sox Gold	9	2	W	-	Α	1	9	.100	-	-	-	completed 6/25
107	7/1/2025	7/1/2025	Papillion LaVista	5	2	W	-	С	7	3	.700	W	-	2	completed 7/1
			Total	90	18	9	1		44	56	.440	4	0	4	

Omaha Electric Bulldogs (Omaha Burke)

Team Performance

Pool: Games Played: 10 Wins: 0 Losses: 10 Opponent Win % .530 Runs Scored: Runs Allowed: 67 Run Differential: -67 Runs Scored / Gm: 0.00 Runs Allowed / Gm: 6.70

-6.70

Calculation of Team's C	omposite R	lank		
Ranking Categories	Value	Rank Pts	x Weight	Result
Category A: Win % vs all League Opponents	.000	22.50	0.40	9.000
Category B: Win % vs opponents w/ Win % >=.500	.000	20.50	0.30	6.150
Category C: Av Runs allowed vs all League Opponents	6.700	18.50	0.20	3.700
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	6.400	11.00	0.10	1.100
		Compos	site Rank:	19.950

	League Schedule Results														
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
	5/27/2025			0	7	-	L	В	1	9	0.100	-	-	-	forfeit
19	5/28/2025	5/28/2025	Bennington	0	7	-	L	В	9	1	0.900	-	L	7	forfeit
29	6/3/2025	6/3/2025	Millard South	0	7	-	L	В	9	1	0.900	-	L	7	forfeit
43	6/4/2025		Elkhorn North	0	7	-	L	С	3	7	0.300	-	-	-	forfeit
	6/10/2025			0	7	-	L	В	7	3	0.700	-	L	7	forfeit
59	6/11/2025	6/11/2025	Elkhorn South	0	7	-	L	В	4	6	0.400	-	-	-	forfeit
73	6/17/2025	6/17/2025	Elkhorn	0	4	-	L	В	7	3	0.700	-	L	4	forfeit
	6/24/2025			0	7	-	L	С	2	8	0.200	-	-	-	forfeit
96	6/25/2025			0	7	-	L	В	4	6	0.400	-	-	-	forfeit
108	7/1/2025	7/1/2025	Creighton Prep 2	0	7	-	L	С	7	3	0.700	-	L	7	forfeit
			Total	0	67	0	10		53	47	0.530	0	5	32	

COLBA Eagles (Omaha Central)

Team Performance

Pool: В 10 Games Played: Wins: Losses: Opponent Win % .550 Runs Scored: 45 Runs Allowed: 79 Run Differential: -34 Runs Scored / Gm: 4.50 Runs Allowed / Gm: 7.90

-3.40

Calculation of Team's C	omposite R	lank		
Ranking Categories	Value	Rank Pts	x Weight	Result
Category A: Win % vs all League Opponents	.100	20.50	0.40	8.200
Category B: Win % vs opponents w/ Win % >=.500	.000	20.50	0.30	6.150
Category C: Av Runs allowed vs all League Opponents	7.900	22.00	0.20	4.400
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	9.833	22.00	0.10	2.200
<u></u>		Compos	site Rank:	20.950

	League Schedule Results														
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
8		5/27/2025		7	0	W	-	В	0	10	.000	-	-	-	forfeit
18	5/28/2025	5/28/2025	Elkhorn	6	8	-	L	В	7	3	.700	-	L	8	completed 5/28
31	6/3/2025	6/30/2025	Gretna	5	7	-	L	С	5	5	.500	-	L	7	completed 6/30
39	6/4/2025	6/4/2025	Ralston	3	4	-	L	В	4	6	.400	-	-	-	completed 6/4
48	6/10/2025	6/10/2025	Elkhorn South	9	12	-	L	В	4	6	.400	-	-	-	completed 6/10
60			Bennington	5	20	-	L	В	9	1	.900	-	L	20	completed 6/11
74	6/17/2025	6/17/2025	Millard South	1	8	-	L	В	9	1	.900	-	L	8	completed 6/17
85	6/24/2025	6/24/2025	Creighton Prep 2	0	6	-	L	С	7	3	.700	-	L	6	completed 6/24
97	6/25/2025	6/25/2025	Gross	7	10	-	L	В	7	3	.700	-	L	10	completed 6/25
109	7/1/2025	7/1/2025	Elkhorn North	2	4	-	L	С	3	7	.300	-	-	-	completed 7/1
			Total	45	79	1	9		55	45	.550	0	6	59	

Junior Bluejays (Creighton Prep)

Team Performance

Pool: 10 Games Played: Wins: 9 Losses: 1 Opponent Win % .490 Runs Scored: 93 Runs Allowed: 30 Run Differential: 63 Runs Scored / Gm: 9.30 Runs Allowed / Gm: 3.00

Run Differential / Gm:

6.30

Calculation of Team's C	omposite R	lank		
Ranking Categories	Value	Rank Pts	x Weight	Result
Category A: Win % vs all League Opponents	.900	2.00	0.40	0.800
Category B: Win % vs opponents w/ Win % >=.500	.800	2.50	0.30	0.750
Category C: Av Runs allowed vs all League Opponents	3.000	5.00	0.20	1.000
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	3.800	4.00	0.10	0.400
		Compos	site Rank:	2.950

	League Schedule Results														
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
4	5/27/2025	5/27/2025	Elkhorn South	6	1	W	-	В	4	6	.400	-	-	-	completed 5/27
20	5/28/2025	6/22/2025	Skutt	17	2	W	-	С	2	8	.200	-	-	-	completed 6/22
32	6/3/2025	6/3/2025	Elkhorn North	16	2	W	-	С	3	7	.300	-	-	-	completed 6/3
44	6/4/2025		Papillion LaVista	2	3	-	L	С	7	3	.700	-	L	3	completed 6/4
	6/10/2025			11	3	W	-	Α	8	2	.800	W	-	3	completed 6/10
66	6/11/2025	6/11/2025	Papio South	8	7	W	-	Α	5	5	.500	W	-	7	completed 6/11
77	6/17/2025		Creighton Prep 2	11	3	W	-	С	7	3	.700	W	-	3	completed 5/23
	6/24/2025		Gretna East	3	1	W	-	С	4	6	.400	-	-	-	completed 7/6
98	6/25/2025	6/25/2025	Gretna	8	3	W	-	С	5	5	.500	W	-	3	completed 6/25
104	7/1/2025	7/1/2025	Elkhorn South	11	5	W	-	В	4	6	.400	-	-	-	completed 7/1
			Total	93	30	9	1		49	51	.490	4	1	19	

The Birds (Creighton Prep)

Team Performance

Pool: Games Played: 10 Wins: 7 3 Losses: Opponent Win % .400 Runs Scored: 69 Runs Allowed: 60 Run Differential: 9 Runs Scored / Gm: 6.90

6.00

0.90

Runs Allowed / Gm:

Calculation of Team's C	omposite R	lank		
Ranking Categories	Value	Rank Pts	x Weight	Result
Category A: Win % vs all League Opponents	.700	7.00	0.40	2.800
Category B: Win % vs opponents w/ Win % >=.500	.500	6.50	0.30	1.950
Category C: Av Runs allowed vs all League Opponents	6.000	15.00	0.20	3.000
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	7.750	15.50	0.10	1.550
		Compos	site Rank:	9.300

	League Schedule Results														
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
11	5/27/2025	5/27/2025	Elkhorn North	8	5	W	-	С	3	7	.300	-	-	-	completed 5/27
21	5/28/2025		Papillion LaVista	4	1	W	-	С	7	3	.700	W	-	1	completed 5/29
23	6/3/2025		Papio South	11	6	W	-	Α	5	5	.500	W	-	6	completed 6/3
35	6/4/2025		Millard Sox Black	1	8	-	L	Α	4	6	.400	-	-	-	completed 6/4
52	6/10/2025	6/10/2025	Gretna	9	13	-	L	С	5	5	.500	-	L	13	completed 6/10
			Gretna East	12	9	W	-	С	4	6	.400	-	-	-	completed 6/11
			Creighton Prep	3	11	-	L	С	9	1	.900	-	L	11	completed 5/23
85	6/24/2025	6/24/2025	Central	6	0	W	-	В	1	9	.100	-	-	-	completed 6/24
99	6/25/2025	6/25/2025	Skutt	8	7	W	-	С	2	8	.200	-	-	-	completed 6/25
108	7/1/2025	7/1/2025	Burke	7	0	W	-	В	0	10	.000	-	-	-	forfeit
			Total	69	60	7	3		40	60	.400	2	2	31	

OrthoNebraska Post 211 Antlers (Elkhorn)

Team Performance

Pool: B
Games Played: 10
Wins: 7
Losses: 3

Opponent Win % .410
Runs Scored: 62
Runs Allowed: 33
Run Differential: 29

6.20

3.30

2.90

Runs Scored / Gm:

Runs Allowed / Gm:

Calculation of Team's C	omposite R	lank		
Ranking Categories	Value	Rank Pts	x Weight	Result
Category A: Win % vs all League Opponents	.700	7.00	0.40	2.800
Category B: Win % vs opponents w/ Win % >=.500	.000	20.50	0.30	6.150
Category C: Av Runs allowed vs all League Opponents	3.300	7.00	0.20	1.400
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	6.000	9.50	0.10	0.950
		Compos	site Rank:	11.300

	League Schedule Results														
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
	5/27/2025			4	1	W	-	В	4	6	.400	-	-	-	completed 5/27
18	5/28/2025			8	6	W	-	В	1	9	.100	-	-	-	completed 5/28
30	6/3/2025	6/16/2025	Bennington	0	9	-	L	В	9	1	.900	-	L	9	completed 6/16
41	6/4/2025	6/4/2025	Millard South	1	3	-	L	В	9	1	.900	-	L	3	completed 6/4
51	6/10/2025	6/10/2025	Bellevue East	15	0	W	-	Α	0	10	.000	-	-	-	completed 6/10
61	6/11/2025	7/2/2025	Gross	5	6	-	L	В	7	3	.700	-	L	6	completed 7/2
	6/17/2025			4	0	W	-	В	0	10	.000	-	-	-	forfeit
			Elkhorn South	9	1	W	-	В	4	6	.400	-	-	-	completed 6/24
95	6/25/2025	6/25/2025	Elkhorn North	8	0	W	-	С	3	7	.300	-	-	-	completed 6/25
106	7/1/2025	7/1/2025	Gretna East	8	7	W	-	С	4	6	.400	-	-	_	completed 7/1
			Total	62	33	7	3		41	59	.410	0	3	18	

Equitable Bank Post 211 (Elkhorn North)

Team Performance

Pool: Games Played: 10 3 Wins: 7

Losses:

Opponent Win % .480 Runs Scored: 33 62 Runs Allowed: Run Differential: -29 Runs Scored / Gm: 3.300 Runs Allowed / Gm: 6.200

-2.900

Run Differential / Gm:

Calculation of Team's Composite Rank Ranking Categories Rank Pts x Weight Value Result Category A: Win % vs all League Opponents 18.00 .300 0.40 7.200 Category B: Win % vs opponents w/ Win % >=.500 20.50 0.30 .000 6.150 Category C: Av Runs allowed vs all League Opponents 16.00 0.20 6.200 3.200 Category D: Av Runs allowed vs opp'ts w/ Win% >=.500 9.000 20.00 0.10 2.000 Composite Rank: 18.550

	League Schedule Results														
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
11	5/27/2025	5/27/2025	Creighton Prep 2	5	8	-	L	С	7	3	.700	-	L	8	completed 5/27
22	5/28/2025		Gretna East	0	1	-	L	С	4	6	.400	-	-	-	completed 5/28
32	6/3/2025		Creighton Prep	2	16	-	L	С	9	1	.900	-	L	16	completed 6/3
43	6/4/2025	6/4/2025	Burke	7	0	W	-	В	0	10	.000	-	-	-	forfeit
53	6/10/2025	6/10/2025	Skutt	7	5	W	-	С	2	8	.200	-	-	-	completed 6/10
	6/11/2025			2	12	-	L	С	5	5	.500	-	L	12	completed 7/8
76	6/17/2025	6/17/2025	Papillion LaVista	3	5	-	L	С	7	3	.700	-	L	5	completed 6/17
80	6/24/2025	7/3/2025	Bellevue West	3	5	-	L	Α	6	4	.600	-	L	5	completed 7/3
95	6/25/2025		Elkhorn	0	8	-	Ĺ	В	7	3	.700	-	Ĺ	8	completed 6/25
109	7/1/2025	7/1/2025	Central	4	2	W	-	В	1	9	.100	-	-	-	completed 7/1
			Total	33	62	3	7	<u> </u>	48	52	.480	0	6	54	

GFS Storm Post 211 (Elkhorn South)

Team Performance

Pool: Games Played: 10 Wins: 4 Losses: 6 Opponent Win % .600 Runs Scored: 48 Runs Allowed: 67 Run Differential: -19 Runs Scored / Gm: 4.80 Runs Allowed / Gm: 6.70

-1.90

Calculation of Team's C	omposite R	lank		
Ranking Categories	Value	Rank Pts	x Weight	Result
Category A: Win % vs all League Opponents	.400	15.50	0.40	6.200
Category B: Win % vs opponents w/ Win % >=.500	.143	16.50	0.30	4.950
Category C: Av Runs allowed vs all League Opponents	6.700	18.50	0.20	3.700
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	7.857	17.00	0.10	1.700
		Compos	site Rank:	16.550

	League Schedule Results														
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
			Creighton Prep	1	6	-	L	С	9	1	.900	-	L	6	completed 5/27
12	5/28/2025	5/28/2025	Papio South	0	8	-	L	Α	5	5	.500	-	L	8	completed 5/28
28	6/3/2025	6/3/2025	Ralston	8	3	W	-	В	4	6	.400	-	-	-	completed 6/3
38	6/4/2025			9	11	-	L	В	7	3	.700	-	L	11	completed 6/4
48	6/10/2025	6/10/2025	Central	12	9	W	-	В	1	9	.100	-	-	-	completed 6/10
59	6/11/2025	6/11/2025	Burke	7	0	W	-	В	0	10	.000	-	-	-	forfeit
72	6/17/2025	6/17/2025	Bennington	5	4	W	-	В	9	1	.900	W	-	4	completed 6/17
82	6/24/2025	6/24/2025	Elkhorn	1	9	-	L	В	7	3	.700	-	L	9	completed 6/24
94	6/25/2025		Millard South	0	6	-	Ĺ	В	9	1	.900	-	L	6	completed 6/25
104	7/1/2025	7/1/2025	Creighton Prep	5	11	-	L	С	9	1	.900	-	L	11	completed 7/1
			Total	48	67	4	6		60	40	.600	1	6	55	

Gretna Post 216

Team Performance Pool:

С

10 Games Played: Wins: 5 Losses: 5 Opponent Win % Runs Scored: .540 55 Runs Allowed: 59 Run Differential: -4 Runs Scored / Gm: 5.50 Runs Allowed / Gm: 5.90 Run Differential / Gm: -0.40

Calculation of Team's C	omposite R	ank		
Ranking Categories	Value	Rank Pts	x Weight	Result
Category A: Win % vs all League Opponents	.500	12.50	0.40	5.000
Category B: Win % vs opponents w/ Win % >=.500	.333	10.00	0.30	3.000
Category C: Av Runs allowed vs all League Opponents	5.900	13.50	0.20	2.700
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	7.333	14.00	0.10	1.400
		Compo	site Rank:	12.100

	League Schedule Results														
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
1	5/27/2025	5/27/2025	Bellevue West	0	8	-	L	Α	6	4	.600	-	L	8	completed 5/27
31	6/3/2025	6/30/2025	Central	7	5	W	-	В	1	9	.100	-	-	-	completed 6/30
42		0, 1,_0_0		6	8	-	L	С	2	8	.200	-	-	-	completed 6/4
52	6/10/2025	6/10/2025	Creighton Prep 2	13	9	W	-	С	7	3	.700	W	-	9	completed 6/10
	6/11/2025		Elkhorn North	12	2	W	-	С	3	7	.300	-	-	-	completed 7/8
75	6/17/2025	6/17/2025	Gretna East	5	0	W	-	С	4	6	.400	-	-	-	completed 6/17
87	6/24/2025	6/24/2025	Papillion LaVista	0	3	-	L	С	7	3	.700	-	L	3	completed 6/24
98	6/25/2025	6/25/2025	Creighton Prep	3	8	-	L	С	9	1	.900	-	L	8	completed 6/25
105	7/1/2025	7/1/2025	Millard South	1	9	-	L	В	9	1	.900	-	L	9	completed 7/1
112	7/2/2025	7/2/2025	Millard West	8	7	W	-	Α	6	4	.600	W	-	7	completed 7/2
			Total	55	59	5	5		54	46	.540	2	4	44	

Gretna East Post 216

Team Performance

Pool: C
Games Played: 10
Wins: 4
Losses: 6

Opponent Win % .620
Runs Scored: 44
Runs Allowed: 59

Runs Scored: 44
Runs Allowed: 59
Run Differential: -15
Runs Scored / Gm: 4.40
Runs Allowed / Gm: 5.90
Run Differential / Gm: -1.50

Calculation of Team's C	omposite R	lank		
Ranking Categories	Value	Rank Pts	x Weight	Result
Category A: Win % vs all League Opponents	.400	15.50	0.40	6.200
Category B: Win % vs opponents w/ Win % >=.500	.143	16.50	0.30	4.950
Category C: Av Runs allowed vs all League Opponents	5.900	13.50	0.20	2.700
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	6.714	13.00	0.10	1.300
		Compos	site Rank:	15.150

	League Schedule Results														
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
	5/27/2025			2	0	W	-	С	2	8	.200	-	-	-	completed 5/27
22	5/28/2025	5/28/2025	Elkhorn North	1	0	W	-	С	3	7	.300	-	-	-	completed 5/28
33	6/3/2025	7/7/2025	Papillion LaVista	5	1	W	-	С	7	3	.700	W	-	1	completed 7/7
40	6/4/2025		Bennington	2	7	-	L	В	9	1	.900	-	L	7	completed 6/4
			Millard South	3	11	-	L	В	9	1	.900	-	L	11	completed 6/10
64	6/11/2025	6/11/2025	Creighton Prep 2	9	12	-	L	С	7	3	.700	-	L	12	completed 6/11
75	6/17/2025	6/17/2025	Gretna	0	5	-	L	С	5	5	.500	-	L	5	completed 6/17
	6/24/2025		Creighton Prep	1	3	-	L	С	9	1	.900	-	L	3	completed 7/6
92	6/25/2025	6/25/2025	Millard Sox Black	14	12	W	-	Α	4	6	.400	-	-	-	completed 6/25
106	7/1/2025	7/1/2025	Elkhorn	7	8	-	L	В	7	3	.700	-	L	8	completed 7/1
			Total	44	59	4	6		62	38	.620	1	6	47	

Peitzmeier Demolition (Omaha Gross Catholic)

Team Performance

Pool: В 10 Games Played: Wins: 7 3 Losses: Opponent Win % .430 Runs Scored: 60 Runs Allowed: 52 Run Differential: 8 Runs Scored / Gm: 6.00 Runs Allowed / Gm: 5.20 Run Differential / Gm: 0.80

Calculation of Team's C	omposite R	ank		
Ranking Categories	Value	Rank Pts	x Weight	Result
Category A: Win % vs all League Opponents	.700	7.00	0.40	2.800
Category B: Win % vs opponents w/ Win % >=.500	.250	12.00	0.30	3.600
Category C: Av Runs allowed vs all League Opponents	5.200	11.00	0.20	2.200
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	7.750	15.50	0.10	1.550
	<u> </u>	Compos	site Rank:	10.150

	League Schedule Results														
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
7	5/27/2025	5/27/2025	Bennington	0	9	-	L	В	9	1	.900	-	L	9	completed 5/27
17	5/28/2025	5/28/2025	Millard South	2	8	-	L	В	9	1	.900	-	L	8	completed 5/28
24	6/3/2025		Millard Sox Gold	10	2	W	-	Α	1	9	.100	-	-	-	completed 7/6
38	6/4/2025	6/4/2025	Elkhorn South	11	9	W	-	В	4	6	.400	-	-	-	completed 6/4
49	6/10/2025	6/10/2025	Burke	7	0	W	-	В	0	10	.000	-	-	-	forfeit
61	6/11/2025	7/2/2025	Elkhorn	6	5	W	-	В	7	3	.700	W	-	5	completed 7/2
68	6/17/2025	6/17/2025	Westside	1	9	-	L	Α	8	2	.800	-	L	9	completed 6/17
86	6/24/2025	7/7/2025	Ralston	3	2	W	-	В	4	6	.400	-	-	-	completed 7/7
97	6/25/2025	6/25/2025	Central	10	7	W	-	В	1	9	.100	-	-	-	completed 6/25
102	7/1/2025	7/1/2025	Bellevue East	10	1	W	-	Α	0	10	.000	-	-	-	completed 7/1
			Total	60	52	7	3		43	57	.430	1	3	31	

Lawn Land Mustangs (Millard North)

Team Performance

Pool: Α Games Played: 10 Wins: 7 Losses: 3 Opponent Win % .450 Runs Scored: 58 Runs Allowed: 30 Run Differential: 28 Runs Scored / Gm: 5.80

3.00

2.80

Runs Allowed / Gm:

Calculation of Team's C	omposite R	ank		
Ranking Categories	Value	Rank Pts	x Weight	Result
Category A: Win % vs all League Opponents	.700	7.00	0.40	2.800
Category B: Win % vs opponents w/ Win % >=.500	.400	9.00	0.30	2.700
Category C: Av Runs allowed vs all League Opponents	3.000	5.00	0.20	1.000
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	4.600	6.00	0.10	0.600
		Compo	site Rank:	7.100

	League Schedule Results														
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
5	5/27/2025	5/27/2025	Millard South	1	3	-	L	В	9	1	.900	-	L	3	completed 5/27
13	5/28/2025		Millard Sox Gold	7	0	W	-	Α	1	9	.100	-	-	-	completed 7/7
25	6/3/2025	7/8/2025	Skutt	11	3	W	-	С	2	8	.200	-	-	-	completed 7/8
36	6/4/2025	6/4/2025	Westside	0	2	-	L	Α	8	2	.800	-	L	2	completed 6/4
47	6/10/2025	6/10/2025	Bellevue West	6	8	-	L	Α	6	4	.600	-	L	8	completed 6/10
71	6/17/2025	6/17/2025	Ralston	7	0	W	-	В	4	6	.400	-	-	-	completed 6/17
81	6/24/2025	6/24/2025	Millard Sox Black	3	2	W	-	Α	4	6	.400	-	-	-	completed 6/24
91	6/25/2025	6/25/2025	Bellevue East	7	2	W	-	Α	0	10	.000	-	-	-	completed 6/25
101	7/1/2025	7/1/2025	Millard West	11	7	W	-	Α	6	4	.600	W	-	7	completed 7/1
111	7/2/2025	7/2/2025	Papio South	5	3	W	-	Α	5	5	.500	W	-	3	completed 7/2
			Total	58	30	7	3		45	55	.450	2	3	23	

Pat Hagge Patriots (Millard South)

Team Performance

Pool: B
Games Played: 10
Wins: 9
Losses: 1

Opponent Win % .480
Runs Scored: 70

Opponent Win % .480
Runs Scored: 70
Runs Allowed: 22
Run Differential: 48
Runs Scored / Gm: 7.00
Runs Allowed / Gm: 2.20

4.80

Calculation of Team's C	omposite R	lank		
Ranking Categories	Value	Rank Pts	x Weight	Result
Category A: Win % vs all League Opponents	.900	2.00	0.40	0.800
Category B: Win % vs opponents w/ Win % >=.500	.800	2.50	0.30	0.750
Category C: Av Runs allowed vs all League Opponents	2.200	2.00	0.20	0.400
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	3.400	3.00	0.10	0.300
		Compos	site Rank:	2.250

	League Schedule Results														
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
			Millard North	3	1	W	-	Α	7	3	.700	W	-	1	completed 5/27
17	5/28/2025	5/28/2025	Gross	8	2	W	-	В	7	3	.700	W	-	2	completed 5/28
29	6/3/2025	6/3/2025	Burke	7	0	W	-	В	0	10	.000	-	-	-	forfeit
41	6/4/2025	6/4/2025	Elkhorn	3	1	W	-	В	7	3	.700	W	-	1	completed 6/4
			Gretna East	11	3	W	-	С	4	6	.400	-	-	-	completed 6/10
	6/11/2025			13	1	W	-	В	4	6	.400	-	-	-	completed 6/11
74	6/17/2025			8	1	W	-	В	1	9	.100	-	-	-	completed 6/17
83	6/24/2025		Bennington	2	12	-	L	В	9	1	.900	-	L	12	completed 7/2
94	6/25/2025		Elkhorn South	6	0	W	-	В	4	6	.400	-	-	-	completed 6/25
105	7/1/2025	7/1/2025	Gretna	9	1	W	-	С	5	5	.500	W	-	1	completed 7/1
			Total	70	22	9	1		48	52	.480	4	1	17	

Millard Sox Black

Team Performance

Pool: A
Games Played: 10
Wins: 4
Losses: 6

Opponent Win % .510
Runs Scored: 57
Runs Allowed: 65
Run Differential: -8
Runs Scored / Gm: 5.70
Runs Allowed / Gm: 6.50
Run Differential / Gm: -0.80

Calculation of Team's C	omposite R	lank		
Ranking Categories	Value	Rank Pts	x Weight	Result
Category A: Win % vs all League Opponents	.400	15.50	0.40	6.200
Category B: Win % vs opponents w/ Win % >=.500	.286	11.00	0.30	3.300
Category C: Av Runs allowed vs all League Opponents	6.500	17.00	0.20	3.400
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	6.429	12.00	0.10	1.200
		Compos	site Rank:	14.100

	League Schedule Results														
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
3	5/27/2025	5/27/2025	Westside	1	9	-	L	Α	8	2	.800	-	L	9	completed 5/27
14	5/28/2025	5/28/2025	Bellevue West	5	3	W	-	Α	6	4	.600	W	-	3	completed 5/28
35	6/4/2025	6/4/2025	Creighton Prep 2	8	1	W	-	С	7	3	.700	W	-	1	completed 6/4
45	6/10/2025	6/10/2025	Papio South	2	10	-	L	Α	5	5	.500	-	L	10	completed 6/10
56	6/11/2025	6/11/2025	Bellevue East	14	5	W	-	Α	0	10	.000	-	-	-	completed 6/11
69	6/17/2025	6/17/2025	Millard West	7	8	-	L	Α	6	4	.600	-	L	8	completed 6/17
			Millard North	2	3	-	L	Α	7	3	.700	-	L	3	completed 6/24
92	6/25/2025	6/25/2025	Gretna East	12	14	-	L	С	4	6	.400	-	-	-	completed 6/25
103	7/1/2025	7/1/2025	Millard Sox Gold	3	1	W	-	Α	1	9	.100	-	-	-	completed 7/1
115	7/2/2025	7/2/2025	Papillion LaVista	3	11	-	Ĺ	С	7	3	.700	-	L	11	completed 7/2
			Total	57	65	4	6		51	49	.510	2	5	45	

Millard Sox Gold

Team Performance

Pool: A
Games Played: 10
Wins: 1

Losses:

9

Opponent Win % .590
Runs Scored: 28
Runs Allowed: 78
Run Differential: -50
Runs Scored / Gm: 2.800
Runs Allowed / Gm: 7.800
Run Differential / Gm: -5.000

Calculation of Team's C	omposite R	lank		
Ranking Categories	Value	Rank Pts	x Weight	Result
Category A: Win % vs all League Opponents	.100	20.50	0.40	8.200
Category B: Win % vs opponents w/ Win % >=.500	.000	20.50	0.30	6.150
Category C: Av Runs allowed vs all League Opponents	7.800	20.50	0.20	4.100
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	8.875	19.00	0.10	1.900
		Compos	ite Rank:	20.350

	League Schedule Results														
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
2	5/27/2025	5/27/2025	Millard West	2	4	-	L	Α	6	4	.600	-	L	4	completed 5/27
13	5/28/2025	7/7/2025	Millard North	0	7	-	L	Α	7	3	.700	-	L	7	completed 7/7
24	6/3/2025	7/6/2025	Gross	2	10	-	L	В	7	3	.700	-	L	10	completed 7/6
34	6/4/2025	6/4/2025	Papio South	0	11	-	L	Α	5	5	.500	-	L	11	completed 6/4
			Papillion LaVista	2	10	-	L	С	7	3	.700	-	L	10	completed 6/10
57	6/11/2025	6/11/2025	Westside	0	15	-	L	Α	8	2	.800	-	L	15	completed 6/11
70	6/17/2025	6/17/2025	Bellevue West	2	5	-	L	Α	6	4	.600	-	L	5	completed 6/17
93	6/25/2025	6/25/2025	Bennington	2	9	-	L	В	9	1	.900	-	L	9	completed 6/25
103	7/1/2025		Millard Sox Black	1	3	-	Ĺ	Α	4	6	.400	-	-	-	completed 7/1
114	7/2/2025	7/2/2025	Bellevue East	17	4	W	-	Α	0	10	.000	-	-	-	completed 7/2
			Total	28	78	1	9	•	59	41	.590	0	8	71	

Sport Clips Wildcats (Millard West)

Team Performance

Pool: A
Games Played: 10
Wins: 6
Losses: 4

Opponent Win % .460
Runs Scored: 58
Runs Allowed: 47
Run Differential: 11

5.80

4.70 1.10

Runs Scored / Gm:

Runs Allowed / Gm:

Calculation of Team's C	omposite R	ank		
Ranking Categories	Value	Rank Pts	x Weight	Result
Category A: Win % vs all League Opponents	.600	10.50	0.40	4.200
Category B: Win % vs opponents w/ Win % >=.500	.500	6.50	0.30	1.950
Category C: Av Runs allowed vs all League Opponents	4.700	9.00	0.20	1.800
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	6.000	9.50	0.10	0.950
		Compos	site Rank:	8.900

	League Schedule Results														
Gm															
2	5/27/2025	5/27/2025	Millard Sox Gold	4	2	W	-	Α	1	9	.100	-	-	-	completed 5/27
15	5/28/2025	5/28/2025	Ralston	0	1	-	L	В	4	6	.400	-	-	-	completed 5/28
27	6/3/2025	6/14/2025	Westside	5	4	W	-	Α	8	2	.800	W	-	4	completed 6/14
37	6/4/2025	6/4/2025	Bellevue West	3	2	W	-	Α	6	4	.600	W	-	2	completed 6/4
58	6/11/2025	6/11/2025	Bellevue West	8	9	-	L	Α	6	4	.600	-	L	9	completed 6/11
69	6/17/2025	6/17/2025	Millard Sox Black	8	7	W	-	Α	4	6	.400	-	-	-	completed 6/17
79	6/24/2025	7/1/2025	Bellevue East	6	1	W	-	Α	0	10	.000	-	-	-	completed 7/1
89	6/25/2025	6/25/2025	Papio South	10	2	W	-	Α	5	5	.500	W	-	2	completed 6/25
101	7/1/2025	7/1/2025	Millard North	7	11	-	L	Α	7	3	.700	-	L	11	completed 7/1
112	7/2/2025	7/2/2025	Gretna	7	8	-	L	С	5	5	.500	-	L	8	completed 7/2
			Total	58	47	6	4		46	54	.460	3	3	36	

Papio Post 32 (Papillion-LaVista)

Team Performance

Pool: C
Games Played: 10
Wins: 7
Losses: 3

Opponent Win % .440
Runs Scored: 51
Runs Allowed: 29
Run Differential: 22

5.10

2.90

2.20

Runs Scored / Gm:

Runs Allowed / Gm:

Calculation of Team's C	omposite R	ank		
Ranking Categories	Value	Rank Pts	x Weight	Result
Category A: Win % vs all League Opponents	.700	7.00	0.40	2.800
Category B: Win % vs opponents w/ Win % >=.500	.500	6.50	0.30	1.950
Category C: Av Runs allowed vs all League Opponents	2.900	3.00	0.20	0.600
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	2.750	2.00	0.10	0.200
		Compos	site Rank:	5.550

	League Schedule Results														
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
			Bellevue East	9	5	W	-	Α	0	10	.000	-	-	-	completed 5/27
21	5/28/2025		Creighton Prep 2	1	4	-	L	С	7	3	.700	-	L	4	completed 5/29
33	6/3/2025	7/7/2025	Gretna East	1	5	-	L	С	4	6	.400	-	-	-	completed 7/7
44	6/4/2025	6/4/2025	Creighton Prep	3	2	W	-	С	9	1	.900	W	-	2	completed 6/4
46	6/10/2025	6/10/2025	Millard Sox Gold	10	2	W	-	Α	1	9	.100	-	-	-	completed 6/10
	6/11/2025			6	0	W	-	С	2	8	.200	-	-	-	completed 6/11
76	6/17/2025	6/17/2025	Elkhorn North	5	3	W	-	С	3	7	.300	-	-	-	completed 6/17
87	6/24/2025			3	0	W	-	С	5	5	.500	W	-	0	completed 6/24
107	7/1/2025		Bennington	2	5	-	Ĺ	В	9	1	.900	-	L	5	completed 7/1
115	7/2/2025	7/2/2025	Millard Sox Black	11	3	W	-	Α	4	6	.400	-	-	-	completed 7/2
			Total	51	29	7	3		44	56	.440	2	2	11	

402 Training Center Titans (Papillion-LaVista South)

Team Performance Pool: A

Games Played: 10
Wins: 5
Losses: 5

Opponent Win % .520
Runs Scored: 73
Runs Allowed: 55
Run Differential: 18
Runs Scored / Gm: 7.30

5.50

1.80

Runs Allowed / Gm:

Calculation of Team's C	omposite R	lank		
Ranking Categories	Value	Rank Pts	x Weight	Result
Category A: Win % vs all League Opponents	.500	12.50	0.40	5.000
Category B: Win % vs opponents w/ Win % >=.500	.167	14.00	0.30	4.200
Category C: Av Runs allowed vs all League Opponents	5.500	12.00	0.20	2.400
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	8.667	18.00	0.10	1.800
		Compos	site Rank:	13.400

	League Schedule Results														
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
12	5/28/2025		Elkhorn South	8	0	W	-	В	4	6	.400	-	-	-	completed 5/28
23	6/3/2025	6/3/2025	Creighton Prep 2	6	11	-	L	С	7	3	.700	-	L	11	completed 6/3
34			Millard Sox Gold	11	0	W	-	Α	1	9	.100	-	-	-	completed 6/4
			Millard Sox Black	10	2	W	-	Α	4	6	.400	-	-	-	completed 6/10
			Creighton Prep	7	8	-	L	С	9	1	.900	-	L	8	completed 6/11
			Bellevue East	9	1	W	-	Α	0	10	.000	-	-	-	completed 6/17
78	6/24/2025	6/24/2025	Westside	9	17	-	L	Α	8	2	.800	-	L	17	completed 6/24
89	6/25/2025	6/25/2025	Millard West	2	10	-	L	Α	6	4	.600	-	L	10	completed 6/25
100	7/1/2025	7/1/2025	Bellevue West	8	1	W	-	Α	6	4	.600	W	-	1	completed 7/1
111	7/2/2025	7/2/2025	Millard North	3	5	-	L	Α	7	3	.700	-	L	5	completed 7/2
			Total	73	55	5	5		52	48	.520	1	5	52	

McKean's Floor to Ceiling Post 373 (Ralston)

Team Performance

Pool: Games Played: 10 Wins: 4 Losses: 6 Opponent Win % .520 Runs Scored: 30 Runs Allowed: 48 Run Differential: -18 Runs Scored / Gm: 3.00

4.80

-1.80

Runs Allowed / Gm:

Calculation of Team's C	omposite R	lank		
Ranking Categories	Value	Rank Pts	x Weight	Result
Category A: Win % vs all League Opponents	.400	15.50	0.40	6.200
Category B: Win % vs opponents w/ Win % >=.500	.167	14.00	0.30	4.200
Category C: Av Runs allowed vs all League Opponents	4.800	10.00	0.20	2.000
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	5.833	8.00	0.10	0.800
		Compos	site Rank:	13.200

	League Schedule Results														
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
6	5/27/2025	5/27/2025	Elkhorn	1	4	-	L	В	7	3	.700	-	L	4	completed 5/27
15	5/28/2025	5/28/2025	Millard West	1	0	W	-	Α	6	4	.600	W	-	0	completed 5/28
28	6/3/2025	6/3/2025	Elkhorn South	3	8	-	L	В	4	6	.400	-	-	-	completed 6/3
39				4	3	W	-	В	1	9	.100	-	-	-	completed 6/4
			Bennington	0	8	-	L	В	9	1	.900	-	L	8	completed 6/10
62	6/11/2025	6/11/2025	Millard South	1	13	-	L	В	9	1	.900	-	L	13	completed 6/11
71	6/17/2025	6/17/2025	Millard North	0	7	-	L	Α	7	3	.700	-	L	7	completed 6/17
86	6/24/2025	7/7/2025	Gross	2	3	-	L	В	7	3	.700	-	L	3	completed 7/7
96	6/25/2025			7	0	W	-	В	0	10	.000	-	-	-	forfeit
110	7/1/2025	6/26/2025	Skutt	11	2	W	-	С	2	8	.200	-	-	-	completed 7/1
			Total	30	48	4	6		52	48	.520	1	5	35	

Franchise Sidekick SkyHawks (Omaha Skutt Catholic)

Team Performance Pool: C

Games Played: 10 Wins: 2 Losses: 8 Opponent Win % .540 Runs Scored: 36 Runs Allowed: 78 -42 Run Differential: Runs Scored / Gm: 3.60 Runs Allowed / Gm: 7.80

-4.20

Calculation of Team's C	omposite R	lank		
Ranking Categories	Value	Rank Pts	x Weight	Result
Category A: Win % vs all League Opponents	.200	19.00	0.40	7.600
Category B: Win % vs opponents w/ Win % >=.500	.167	14.00	0.30	4.200
Category C: Av Runs allowed vs all League Opponents	7.800	20.50	0.20	4.100
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	9.667	21.00	0.10	2.100
		Compos	site Rank:	18.000

League Schedule Results															
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
10	5/27/2025	5/27/2025	Gretna East	0	2	-	L	С	4	6	.400	-	-	-	completed 5/27
20	5/28/2025		Creighton Prep	2	17	-	L	С	9	1	.900	-	L	17	completed 6/22
25	6/3/2025	7/8/2025	Millard North	3	11	-	L	Α	7	3	.700	-	L	11	completed 7/8
42	6/4/2025		_	8	6	W	-	С	5	5	.500	W	-	6	completed 6/4
			Elkhorn North	5	7	-	L	С	3	7	.300	-	-	-	completed 6/10
65	6/11/2025	6/11/2025	Papillion LaVista	0	6	-	L	С	7	3	.700	-	L	6	completed 6/11
84	6/24/2025	6/24/2025	Burke	7	0	W	-	В	0	10	.000	-	-	-	forfeit
99			Creighton Prep 2	7	8	-	L	С	7	3	.700	-	L	8	completed 6/25
110	7/1/2025	6/26/2025	Ralston	2	11	-	Ĺ	В	4	6	.400	-	-	-	completed 7/1
113	7/2/2025	7/2/2025	Westside	2	10	-	L	Α	8	2	.800	-	L	10	completed 7/2
			Total	36	78	2	8		54	46	.540	1	5	58	

Battle Warriors (Omaha Westside)

Team Performance

Pool: 10 Games Played: Wins: 8 Losses: 2 Opponent Win % .470 Runs Scored: 85 Runs Allowed: 30 Run Differential: 55 Runs Scored / Gm: 8.50

> 3.00 5.50

Runs Allowed / Gm:

Calculation of Team's C	omposite R	lank	Rank Pts x Weight			
Ranking Categories	Value	Rank Pts	x Weight	Result		
Category A: Win % vs all League Opponents	.800	4.00	0.40	1.600		
Category B: Win % vs opponents w/ Win % >=.500	.667	4.00	0.30	1.200		
Category C: Av Runs allowed vs all League Opponents	3.000	5.00	0.20	1.000		
Category D: Av Runs allowed vs opp'ts w/ Win% >=.500	4.333	5.00	0.10	0.500		
		Compos	site Rank:	4.300		

League Schedule Results															
Gm	Sched.	Played	Opponent	Team Runs	Opp Runs	Team W's	Team L's	Opp. Pool	Opp. W's	Opp. L's	Opp. W%	W's vs >.500 W%	L's vs. >.500 W%	RA vs. >.500 W%	Comments
			Millard Sox Black	9	1	W	-	Α	4	6	.400	-	-	-	completed 5/27
16	5/28/2025	5/28/2025	Bellevue East	13	1	W	-	Α	0	10	.000	-	-	-	completed 5/28
27	6/3/2025	6/14/2025	Millard West	4	5	-	L	Α	6	4	.600	-	L	5	completed 6/14
36	6/4/2025		Millard North	2	0	W	-	Α	7	3	.700	W	-	0	completed 6/4
			Creighton Prep	3	11	-	L	С	9	1	.900	-	L	11	completed 6/10
57	6/11/2025	6/11/2025	Millard Sox Gold	15	0	W	-	Α	1	9	.100	-	-	-	completed 6/11
68	6/17/2025	6/17/2025	Gross	9	1	W	-	В	7	3	.700	W	-	1	completed 6/17
78	6/24/2025	6/24/2025	Papio South	17	9	W	-	Α	5	5	.500	W	-	9	completed 6/24
90	6/25/2025	6/25/2025	Bellevue West	3	0	W	-	Α	6	4	.600	W	-	0	completed 6/25
113	7/2/2025	7/2/2025	Skutt	10	2	W	-	С	2	8	.200	-	-	-	completed 7/2
			Total	85	30	8	2		47	53	.470	4	2	26	